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Recieve};, = app X [(Diff,, x T_Max_Market) — (Diff}, x m_Avg_DA)]

\

N
if E_ACt_Bu_MOdb'h > E_FT'C_DAb,th lefl;,h = E_Act_Bub,h — E_FT'C_DA_MOdb'h
else Diff,,=0
if E_Act_ Bu_Mody, <E_Frc_DApj Diff;,"h = E_Frc_DAp, — E_Act_Bu_Mody
else Diff;,=0
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oy, — 4(6 Br) 2% < B = 4% bh E_Act_Bu_Mod,, X (1 + Rb)
1 .
E ﬂﬁ = 404
1 0 <8, <2%
1 e
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3 bh =\ E_Act_Bu_Mod,, x (1 + R})
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[ Generation 1 ]

(200MW)

DA market

(40MW)

« | | |
ID market

J

(100MW) * Avg_DA

N -

[[ Demand1l ]

—app X (10 x Avg_DA)

(100MW) * Avg_DA

Actual=90 MW

S

app X (50 X n_Max)

[ Actual=150 MW ]

\2 ~




[ Generation 1 ]

(200MW)

DA market

(160MW)
« L} ._ L}

(4o0MWw)

« - . -
Bid — AVC

J

(100MW) * Avg_DA

N -

[[ Demand1l ]

—app X (50 x Avg_DA)

Actual=50 MW

(100MW) * Avg_DA

S

app X (10 X n_Max)

[ Actual=110 MW ]

\2 ~
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' N -1
A, = Zi,i¢b(|E_Frc_DAi,h — E_Act_Bu_Modi,hD 12 iy
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- _J

J[Rial] . pth cslw g p1h 3% 31 (B pao Jbd (ot 39 O yhos dlawl gy (8L 40 &hwo g oyl o ¢ Portiony,
J[Rial] pth celw g pIb 4w 3> 31 & 3o COb 18 Cub ouis Ao @ tRecievey,
[Rial] pth celw g pIPP o5 g i 4 S8 33 Cub oo Ao o tPayment,,),






